Potencias de 10 (H)

Calcule los siguientes productos y cocientes.

3.0119 x 0.1

1.5062 +-0.1

2.5217+0.1

2.1359+0.1

9.7151+0.1

6.2767+0.1

9.432+0.1

7.031+0.1

9.3722 x 0.1

3.9654 x 0.1

4.1109+0.1

7.3391 x 0.1

1.8282 0.1

4.9362 < 0.1

8.918 0.1

5.5571+0.1

6.0611 x 0.1

8.2304 = 0.1

3.7188 0.1

1.5569 x 0.1
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Potencias de 10 (H) Respuestas

Calcule los siguientes productos y cocientes.

3.0119 x 0.1
0.30119
1.5062 +-0.1
15.062
2.5217+0.1
25.217
2.1359+0.1
21.359
9.7151 +0.1
97.151
6.2767+0.1
62.767
9.432 0.1
94.32
7.031+0.1
70.31
9.3722 x 0.1
0.93722
3.9654 x 0.1
0.39654

4.1109 0.1
41.109
7.3391 x 0.1
0.73391
1.8282 0.1
18.282
4.9362 x 0.1
0.49362
8.918 +0.1
89.18
5.5571 0.1
55.571
6.0611 x 0.1
0.60611
8.2304 0.1
82.304
3.7188 0.1
37.188
1.5569 x 0.1
0.15569
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